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Purim After After Party
iN1-N11'1]

Hanging On Something Big:

Here are some things in 0" that were hanging on something big

(.12 71%2) 212 dwRa RPN L1
(.09 MND’) 0’1 NPTAN XYW T8 AR I N0 2
(.2°p o’mon) P17 KA AP pah nwpa ox - .3

NAyNa NN
(:2 0'Dpw) NaILY NV
(T2 DMT) WII'R D IXD (NV))
(:2'p NaY) W' 12 TN (NAI0D)
Woman like a goose.
(:10 DITA) KTIN SWD NN (NYY)
(:T* N2'AN) 'DMOM MNI'VI RTIN 12 D'TINI 'O NNT XI'NX (N210D)

The 0>11D After After Party:
(10 13) IAX INX K ORN

We said this in 27.

Hello to all my readers, whatever your preferred dialect is (11121 923 77 222 "o ):
(:3 0°1on) P> 0w
(:1¢ Mn) 7> XY

(.n¥ Pa7mIo) Phu 0w

Welcome to the 0’9 After After Party:
“Where is the music”?, you might ask:
(.1 TI0) IPLN X7 XUNWT XITIX 27 XK
(237 NAW) XD XNT1AT M1 XN

(0 7IXAm) 1N P°0D X521 T



n”a

NIk QT

DREF B0 INSIESTS

No 771 of the X713, and 12w 92 no > 71I.
(:n MM22) *X> 727720 12 XK 1 1INK

But instead here is a poem, inspired by the question of the X11NX >27°20 to 1117 12 UY1T 1 to tell them
“an empty statement” (artscroll).

(:10 0°717) XP12 0N
(.2 MAwY) X773 waw
(.74 NAW) X311 XITTT
(:72 ©T) AP MR
(.L 017) DWW 17D
non X9 PN X
(:72 ©7171) D°I¥N PDIWD KON
(:72 N”38N) NP372 > DY >N IR

Two things that wouldn’t fit through a door in 0”w:
(:712 P™n) X707 "1 2w I
(:1 MM22) X2 INK

Two items in 0" that 10 men carried:

(.2p P21PL) NI 02702 MAT KXW X0

(:B PYNTR) NN TIWY MXCRIT AL 0
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alialel

(.1 o°’nop) ar QWSY noDn QTP nosdn nabna P@IM ]"?N'IW
There should be 10 but there is only 9:

(:v °10R) UWN XX WU M7 XY 77713 70K 270 20
(:77 M12712) PRIVYA TIWUD PRI AUWN X0 IR NOX
(29 P77I0) M "0 X WY
For a 1’0 to remember this:
Two things N1D0IN mentions about a PO17’X NTIWO:
It is the 771 for what is considered a 79173 7O in regards to needing to daven 1Min before beginning.
(NMDON2 71"7 'O W NAWY)(F1TA ITIN)
(*"w1D X°2n 21 °X "7 01N (X1 N10713) Mxub 1972 0

so 1 and 17 and © spell out 1 211 | imagine 10 people waiting for a tenth to say M272 UAw and then
they can say 211 D1n.

Words With Two Meanings in Alphabetical Order:

One for X, Two for 1 etc..
PWPKR
People (7 112°3n:)
Forget (21 0>771:)
IO

To err is human: “It is normal for people to make mistakes” - merriam-webster
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H ¢ahin]
Hair (X 71 112 p"n)
Fish (X Tnu N2 11¥)
)
(.2 DP3LN) P 1A TR DY N
“A type of dry measure used in Babylonia” (artscroll Eruvin 29b2)
XTI
Troop: (X 71U 13 M>271)
Uniform: (X 71U ©v’p NIw)
Hyqullelh)
Shard (X Tnu ¥ Naw)
Lower Level official (X TN 7 7W10)(X 710U XIJpP NAW)

In X TNU X2 P21 it means an animal split in two > says X100’ 17 D23W? P27 127 92 so that fits
for the shard as well. What about the lower level official?

RD?1A

Side roads (X TIny O' O'NDD)
According to Rav Hai Gaon in X TIny a'p D'NDD it means the demons themselves who

go by the side roads (artscroll note 1)
TR
A Jackal (2 Tnu L M)

A Cataract (X Tnu nu Naw)
Xl
Depilatory: (X 71U X0 7°11)

Father: It is a NP2 in MDOIN if it is when the father is no longer living or even if it is during his life time
(this is the X”2w1 brought in ma01N).

(Xw1>271"7 'O 32 NAW)



n”a

Some >’ *1u%: Where did that Old French Word End Up?
Every year on Purim in my shul there is someone with stilts. The Old French word is W’ XpwX
(:70 Paw P a7 0"w)

| have a native in my shul who says the modern word is eazysheas (not sure how it is spelled but this is
how it is phoneticised). perhaps the P became a “sh” sound as you will see later with the word for shirt
or tunic P1717 etc..

Ball:
The w1 in X TN 12 7110 says the old french word is X”1190:

The native tells me the modern word is closer to the english word, but the still use pelot for a “ball of
yarn” The Spanish word is pelota just like the old french word.

The word Xp2191 is translated into old french by > as W”1p. The modern french word is manteau, and
the spanish word isn't close either, but the english word “coat” is wnn the same word.

Back to the modern french word manteau w1 in X TNy dp NaW in N10PN N7 (cloak (artscroll)) says the
old french word is »"'0In. A few "w’s later in pIYN N”T (tunic (artscroll)) he says the old french word is
N"wmp The modern french word for shirt is pretty close chemise (she-mee-zeh) and the spanish word is
even closer (camisa).

Last one:

In 2 TNy 1”1 |'0'a the old french word for 1NT NIDX is N”2' 21N which the native says is pretty close to the
modern french word for swallow “hirondelle”.

That is it for >’ 71U for now.

Hair:
(.15 1) WY
(.07 1) XM
(.12 1) XN

(.12 P"n) X212
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Fish:
(M2 7¥°2) X712
(.0’p NAW)(:31 XIN2 X322 PP ) Xmd
(:Xop Mn2°) M2
(:X31 0°73) AT 3T
and then there are various species:
(.°p NIW) XMW
(.0% N2W) PIDOXTT 0791
(:7% 777 7mAan) n°avo
QXN O°XIN
(.10 P13 (:X3 P11) X330 72 XD AN
(.35 1210) X3°71 72 X210 1N
(12 1210)
The 11”2 changes it from X1°11 to X3°7 to match X 7w 175,
XaX 72 SXnw
A X2X 72 5X1w who saw 13 7
(.X37°13)(:30 712°3n)
and one who didn’t:

(:¢ 7o)

(:A NnI'Y) NAIN T ANa N
(19 m)(:1 NAW) X''N 1A NN
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A 217’11 Vort: nand
| want to finish off with a vort of p1r°m:

Some XnY's that appear twice on M2 7 7:

Fish and Hair Xn°12

(jop TR ,mxea)
(7573 ,Ma73) PN A XN

(Par1Py ,M272) XTI won

The vort is If you feel ©”511 because you have been learning for so long straight, Hashem should give you
12 and more M2 to keep learning and to finish all of 0”. Remember the modern french word for stilts.

Easyshas.

Keep learning, and the 0" will become easy.



